
B. A./B.Sc. 4th Semester (Honours) Examination, 2022 (CBCS)

Subject : Economics

Paper : CC-10

(Development Economics)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/ ¬Ûı˛œé¬±Ôœ«Àı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any ten questions : 10×2=20

ïŒ˚ Œfl¬±ÀÚ± ˙øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. What is human proverty index?

√˜±Úı ±øı˛^ ¸”‰¬fl¬ øfl¬∑

b. What do you mean by participatory development?

’—˙·Ë˝Ì ˜”˘fl¬ Î¬◊iß˚˛Ú ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

c. What do you mean by basic needs?

Œ˜Ãø˘fl¬ ‰¬±ø˝± ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

d. What are the indicators of HDI?

HDI ¤ı˛ ¸”‰¬fl¬&ø˘ øfl¬ øfl¬∑

e. Define PQLI.

PQLI ¤ı˛ ¸—:± ±›/

f. What do you mean by merchant capital?

¬ıøÚfl¬ ¬Û≈“øÊ ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

g. What is Gini Coefficient?

¬ø·øÚ ¸˝· øfl¬∑

h. What is carrying capacity?

ı˝Ú é¬˜Ó¬± ı˘ÀÓ¬ øfl¬ Œı±Á¬∑
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i. What is surplus labour?

Î¬◊Z‘M |˜ øfl¬∑

j. What do you mean by externalities?

ı±ø˝…fl¬Ó¬± ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

k. What is inclusive development?

Inclusive Î¬◊iß˚˛Ú ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

l. Following A. K. Sen distinguish between labour and labourer.

¬¤. Œfl¬. Œ¸Ú ’Ú≈¸ı˛Ì fl¬Àı˛ |˜ › |ø˜Àfl¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

m. What is the difference between absolute and relative poverty?

¬Ûı˛˜ › ’±À¬Ûøé¬fl¬ ±øı˛^Ó¬±ı˛ ¬Û±Ô«fl¬… øfl¬∑

n. Who is the proponent of unequal exchange theory?

’¸˜ øıøÚ˜˚˛ Ó¬ÀMWı˛ √õ∂ıMê± Œfl¬∑

o. What do you mean by Purchasing Power Party?

Sê˚˛é¬˜Ó¬± ¸±˜… ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

2. Answer any four questions : 4×5=20

ïŒ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. What are the important indicator of economic development?

’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚı˛ &èQ¬Û”Ì« ¸”‰¬fl¬&ø˘ øfl¬ øfl¬∑

b. How do you construct GDI and why it is important?

Ó≈¬ø˜ øfl¬ˆ¬±Àı GDI ·Í¬Ú fl¬ı˛Àı∑ GDI Œfl¬Ú &èQ¬Û”Ì«∑

c. What are the measures do you suggest to break down 'Vicious Circle of Poverty" and

escape from it?

^±øı˛À^ı˛ ≈©Ü ‰¬Sê ˆ¬±ºÀÓ¬ › ¤‡±Ú ŒÔÀfl¬ ˜≈øMê Œ¬ÛÀÓ¬ Ó≈¬ø˜ øfl¬ øfl¬ ¬ÛÀé¬¬Û øÚÀÓ¬ ‰¬±˝◊Àı∑

d. Briefly compare Head Count Ratio and Income Gap approach of poverty measurement.

^±øı˛^Ó¬± ¬Ûøı˛˜±À¬Ûı˛ ˜±Ô± &ÚøÓ¬ ’Ú≈¬Û±Ó¬ › ’±˚˛ ı…ıÒ±Ú Ó¬ÀMWı˛ ¸—Àé¬À¬Û Ó≈¬˘Ú± fl¬Àı˛±/
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e. Which techniques are more applicable for developing nations, labour intensive or capital

intensive? Give your opinion.

Î¬◊iß˚˛Ú˙œ˘ ŒÀ˙ |˜øÚøıh¬ › ˜”˘ÒÚøÚøıh¬ √õ∂˚≈øMêı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ Œıø˙ √õ∂À˚±Ê…∑ ŒÓ¬±˜±ı˛ ˜Ó¬±˜Ó¬ ±›/

f. Write a short note on Sustainable Development.

Sustainable Development-¤ı˛ Î¬◊¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘‡/

3. Answer any two questions : 2×10=20

ïŒ˚ Œfl¬±ÀÚ± ≈øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. Briefly describe the concept of 'Low Level Equilibrium Trap".

ëøÚ•ßô¶∏Àı˛ı˛ ˆ¬±ı˛¸±À˜…ı˛ Ù¬±“í Ò±ı˛Ú±øÈ¬ ¸—Àé¬À¬Û Œ˘‡/

b. Write a note on Frank's theory of colonial exploitation.

ÙË¬±ÀÇ¬ı˛ Î¬◊¬ÛøÚÀıø˙fl¬ Œ˙±¯∏Ì Ó¬ÀMWı˛ Î¬◊¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘‡/

c. Discuss briefly Lewis model of development with unlimited supplies of labour.

|À˜ı˛ Œ˚±·±Ú › Î¬◊iß˚˛Ú-¤ı˛ øı¯∏À˚˛ ˘≈˝◊¸-¤ı˛ Ó¬MWøÈ¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

d. Explain rural to urban migration issues following Harris-Todaro model.

·Ë±˜ ŒÔÀfl¬ ˙˝Àı˛ ˜±˝◊À·Ë˙Ú-¤ı˛ øı¯∏˚˛øÈ¬ ˝…±øı˛¸ › ŒÈ¬±„±Àı˛±ı˛ ˜ÀÎ¬˘ ’Ú≈¸ı˛Ú fl¬Àı˛ ı…±‡…± fl¬Àı˛±/
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